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1. KOBERER
BREA AIREB EREC
X B B
it E 5 i B O H

1. ZEHR—IL EER 88 [=] -[a] 0.000 88 m.100m x 239 [\ /4 x 0.000 0.000

EEK 165 [ -[a] 0000 | 165 m.”100m x 51 B/ £ x 0.000 0.000
2. EHE-SEE

MEHEER 161 [a] -[El 0.000| 161 m.”100m X 239 B /£ x 0.000 0.000

EER 123 [=] -[a] 0000 | 123 m.~100m x 239 [\ 4F x 0.000 0.000
3. BT

HEHEER 11 ] -[El 0.000 11 m.”100m X 239 B /£ x 0.000 0.000
4. EFRUEERAR |BEK 27 ] -[El 0.000 27 m./100m x 239 B /£ x 0.000 0.000
5. BHE BEER 11 ] -[El 0.000 11 m.~100m X 51 [B],/ 4 x 0.000 0.000
6. PEEX EEK 96 [a] -[El 0.000 96 m.~100m x 239 B /£ x 0.000 0.000

B 682 0.000 0.000 0.000
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1. ZE-Fw—L 88 m | B 1 [@|100m-[H 0.000 88 m.100m x 239 [B] /4 x 0.000 0.000
2. EHE-BE 326 m|@ 1 [@ [100m @ 0.000 | 326 mi.~100m x 51 @ £ x 0.000 0.000
3. BT 134 m [ B 1 [ |100m [ 0.000 [ 134 mi.~100m x 239 [B /4 x 0.000 0.000
4. ERARUVEER 27 m|B 1 @ [100m-E 0.000 27 m.100mx 239 A x 0.000 0.000
5. BH=E 11 m |8 1 [E|[100n-E 0.000 11 m.~100m x 51 [/ 4 x 0.000 0.000
6. [EE% 9% m | B 1 [@|100m-[H 0.000 96 m.100m x 239 [B] /4 x 0.000 0.000
H 682 m 0.000 0.000 0.000
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1. ZEHR—IL 88 B 1 [ [100m-[H 0.000 88 m.”100m x 239 [\ /4 x 0.000 0.000
2. kT 134 B 1 [ [100m:-[H 0000 | 134 m.~100m x 239 [\ /4 x 0.000 0.000
3. ERTRUEERT 27 B 1 [ [100m:-[H 0.000 27 m./100m x 239 B /£ x 0.000 0.000
4. GHE 11 E 1 [E[100m-ME 0.000 11 m.”100m X 51 [,/ 4 x 0.000 0.000
B 260 0.000 0.000 0.000
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1. ZEH—IL 88 m| 658 1 [ |[100m- @ 88 m.”100m x 2 [@/ £ x 0.000 88 m.”100m x 2 [/ 4 x 0.000 88 m.”100m x 2 [ £ x 0.000
2. BHE-RBE 165 m | 648 1 [ |100m-E| 165 m.”100m x 2 [/ 4 x 0.000 [ 165 mi.”100m x 2 [B/F x 0.000 | 165 m.”100m x 2 [A /4 x 0.000
3. BF-H—IL 123 m | 658 1 E |100m-E| 123 m.”100m x 2 [@/ £ x 0.000 | 123 m.”100mni x 2 [/ 4 x 0.000 | 123 m.”100m x 2 [@ £ x 0.000
4. BT RUEERT 27 m| 658 1 [ |[100m-H 27 m./100m X 2 [@/ 4 x 0.000 27 m./100m x 2 @4 x 0.000 27 m.”100m x 2 [@ 4 x 0.000
5. HhE 11 m| 6548 1 [@|100m-@E 11 m.”100m x 2 [@/ £ x 0.000 11 m.~100m x 2 [B/ 4 x 0.000 11 m.”100m x 2 @£ x 0.000
6. BEER 96 m| 648 1 [@|100m- M 96 m./100m x 2 B/ FE x 0.000 96 m.”100m x 2 B/ 5 x 0.000 96 m.100m x 2 @/ FE x 0.000
H 510 m 0.000 0.000 0.000
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X 7 B B BiREH B {f - i -k
2. BRE-REBE 161 m £ 1 [ ¥225 161 m 1 B/ x 225 | 36,225

& 161 m 36,225




5. CHINE
BREA EREB EREC
X % EH H FRER| B
it E 5 i B O i
1. &2 5 - RS 682 m 1B 1 [@ [100m-[@ 0.000 0.000 | 682 m.”100m X 243 [\ /£ x 0.000
H 682 m 0.000 0.000 0.000
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1. BASRER 140 m
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BREA EREB EREC
X % EH H FAREH By
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1. EYSNVERE R 1,800 m | 1 [E |[100m:[ 0.000 | 1,800 m.~100m X 51 [B, /4 x 0.000 0.000
0.000
B 1,800 m 0.000 0.000 0.000




X & IH# H BREA bt og=1=] BREC &t
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1. KO B&EFR 0 45.33385 0 45.33385

2. RS BEER 0 42.30457 0 42.30457

3. BEKELFR 0 11.79203 0 11.79203

4—1. ROEHER 1.39714 2.79332 3.039 7.22946

5. THINE 0 0 9.94356 9.94356

7. B ERE R 0 5.508 0 5.508

1.39714 107.73177 12.98256 122.11147

a8 F 1.39 107.73 12.98 122.11
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